LABJNDu1 standard lightnessL*
Yn=L* w

nc=100,

L*

L* LaBanDu1 =N[(A 1r+A2a)I(A 2nA0n)] (Yao/ L00Y<=Y,
L*(3,6)=146 L* ,(18)=332,L*,/(90)=517

-
* =332,22 m,=264,66
* =49, L* =332

application’
range
L =18

Yw=90

Yn=3.6

LABJINDul

tristimulus value difference

Yoc=L*w - nc=100,

L* Laganpu1 =IN[A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Yso)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn a=1,0, see CIE 230:2019

7

application’
range

1

1Y,=18

Yw=90

Ya23.6
log (AY/Y)
S=(AY/Y)

LABJINDul
tristimulus value sensitivity
Yoc=L*w - nc=100,

L* Laganpu1 =IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A 1Az Y Y

Joa(dviV)ES, o8 im, =0, 5 - — application’
*,=332 dY,=0,18 dY,/Y,=0,010% ge

1y,=18
Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJNDul

tristimulus value contrast
Yo=L*w - 6 :ne=100,

L* Laganpu1 =IN[A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
YIAY=Y/[Agn(A1ntA2nY)]

=332 02048 Y

log(Y/dY)1,99 m,=0,13 - ~

application’
range
Y,=18
L

Yn=3.6

Iy
{1

LABJINDul relative standard lightnessL*/L* ,
Ync_L w

=100,

o L* L aBanpu1 =[IN[(A 10+ A2n)I(A 2nA0n)] (Yne/100<Y<=Y,0)

L* (3,6)=146 L% ,(18)=332,L*,(90)=517

application’
range
1Y,=18

Yw=90

Yn=3.6

log(AY/AY,)
AYIAY,

LABJNDu1 relative
tristimulus value difference
Yoc=L*w - -nc=100,

L* Laganpu1 =[IN[(A 1n+A2nV)V(A 2rAon)] (Yae/100<Y<=Yyo)
AY/dY,=AgnA 11+AanYI/dY,

1 a;plicatijn-
1 range
1y,=18

Yy=90

log [AYY) I (AYIY),]
SSu=OYN)AYIY),

LABJINDuL1 relative
tistimulus value sensitivity
Yoe=L*w -~ ne=100,

L* L aanDu1 =[IN[(A 10+ A2 I(A 2nA0n)] (Yne/100<Y<=Y,0)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

log[(dY/YY(dY/Y),]=0, m/=-0,13
* =332, dY,=0,18 dY,/Y,=0,0101]

application’
range

1y,=18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] LABJNDuL relative
tistimulus value contrast
CrlCry=(YIAVI(YIAY)y v 2% 2100

L* L aanDu1 =[IN(A 10+ A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY Y)TA onAqrAgr VI (Y/AY),

log[(Y/dY)(Y/dY),]=0, m,=0,13

* =332 dY,=

|
18 Y /d¥, o8 T

application’
range

=
1
1
1
1

Y,=18
Yw=90

YN=3.6




